
INSTALLATION MANUAL

BK-035

1500X1500X2200mm



A26

A3

X1
A24

A22 A23 A22A23

A9A10A10A9

A25 A25

1/4
2/4

3/4 4/4

A8

X2

A18A15

X4 X4

A1

A2

A19 A20 A21

X2 X1 X1

A12A11

A14A13

A1 A2

A6

M4x10

A4

M4x20

A7

M4x25

A5

M4x20

A16 A17

X1 X1

X1X1

X1 X1 X1X1

X4

X4X8

X34

1



Rubber hammer

Wood block

Pencil

Tape measure

 Omnipotent Spanner

Electric drill

Neutral silica gel gun

Cross head screw driver

Slotted head screw driver

Gradient ruler

(   )6

2

A9

A12A11

A8

A18 A19

A14 A15

A10

A13

A1 A2

A6

M4x10

A4

M4x20

A7

M4x25

A5

M4x20

A16 A17 A20

A21

A3

X1X1 X1

X1X1 X1 X1 X4

X1X1 X2X4 X1

X1

X2X2

A22

X2

A23

X2

A24

X1

X4

X4X8

X2

A25

X2

A26

X1



1500 mm 1500 m
m

Hot waterCold w
ater

Draimer

2
2

0
0
 m

m

Power

540 mm

540 m
m

1
2

0
0
 m

m

1
2

0
0
 m

m

1
8

0
0
 m

m

150 mm

150 m
m

Power

Power

300 mm

3
0

0
 m

m

3

5
5

0
1

6
3

0

2
2

0
0

150015
00

540 51
0



4

A21A3

X1

A3

X1



A2

A1

A1

A8

A10

A4

A6

A1 A2 A4

M4x20

A5

M4x20

A9 A10A7

M4x25

A5

A7

5

X1 X1

X2 X2

A22

X2

A22 A22

X8 X4

X4



A15

A18

6

A19

A15

X4

A18

X4

A19

X2

A8

X1

A8



A6

A6

M4x10

A17

A14

A12

A14

A13

A17

7

A25

X2X34

A26

X1

X1

X1

X1

X1

X1

A24

A24



A16

A16

A20

A20

8

X1X1



Using instruction for shower room

1,Open the switch,it can be adjust the hot and cold water by turing into right 
  and left side,it is fine when you feel temperature is ok.

2,Turing the adjuster,it can control wanter running from the hand shower,foot 
  massager,sharp massager and top shower.

3,The hydraulic pressure is 0.4Mpa in every part.

4,Please turn off the power and switch of the shower room after used it.

5,The glass of shower room is high-quality tampered glass,please don’t
  impact it.

9



Power Request

VITAL ECO PLUS

+ 1500w (   6.6A)

VITAL ECO PLUS

+ 700w (   3.1A)

DXD HEATER

MODEL
VOLTAGE
POWER

SDP-1500   A
220-240VAC

HP 2
50/60Hz

1.5KW

DXD PUMP

MODEL DXD-310 A  AC 220-240V 50Hz 700W CLASS B IPX5
MAX WATER TEMPERATURE 50C   15u  F/450V  Hmin  1m

BLUE BLUE

TEGREEN

THERMAL
PROTECTOR

BROWN

WHITE

VUT
SUO

Mround properly!
Do Not Start Pump
Without  Water!

10



The hot and cold water pipe and
 connect parts should be bought
 by client.

11



White wire

A
C

 1
2

~
A

C
 1

2
~

F
a

n
F

a
n

S
p

e
a

k
e

r
S

p
e

a
k
e

rL
ig

h
t

L
ig

h
t

2
2

0
V

 5
0

H
Z

 1
0

A
 J

A
C

K

A
n

te
n

n
a

TUN

VolTUN
RADIO

Vol

12

L
ig

h
t

This Y-track packed in
 the tray package.


	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9
	页 10
	页 11
	页 12
	页 13

